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Ex . 9 . 3

1 . (A) 125 en em
Let edge of cube = a em
Perimeter of one face = 20 am

or 4a = 20

or a=
or a = Sem

Volume of cube = as
= 53
= 125 em

2 . (C) 8 times
Set edge of cube= a unit
Volume of cube, V = as en unit-Q
When the edge is doubled, edge = 2a units
Volume of cube , V" = (2a)

V ' = 8a3
v" = 8

.: Volume becomes light times of original
volume .

3 . (C) 18m
,

12 m
, Go

Ratio of dimensions = 3 : 2 : 1

Let length ofcuboid , l=3 metre
Breadth of eboid, b =2 metre

Height of cuboid, h= x metre
Volume of enboid = 1296 m3

or lbh = 1296
or 3xx2x x x= 1296
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or 63= 1296
in =E
or s = 216

Taking cube root on both sides

x= 6 rem

.: l = 3x6 = 18m

b = 2x6 = 12 m

h= 1x6 = Gm

4 . (D) 2772 enem

Siameter of Cylinder , d=21 em
Radius of Cylinder, r== em

Height of Cylinder , h = Sam
Volume of Cylinder = it eth

3

=
+ 2

3
= 2772 en

S . (B) 4 : 1

Set radius of Cylinder be 'r units
and height ofeylinder be 's' units
Volume of Cylinder , V= rh
When the radius is doubled

, height =2r units
Volume of Cylinder, V= (2r)h

V = 422h
V = 4V

V' : V = 4 : 1
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6. (A) 10 em
Radius of tank , r= 14 em
Height of tark , h= ?

Capacity of tank = 6160 em
or + rh = 6160

orx14x1= 616
or to

↓

or h= 10 em

=a Length of erbod , l= 12 m

Breadth of cuboid ,b = Im
Height of cuboid , h= Om

Volume ofcuboid = Ibh

= 12x8x6

= 576 em

b . Length of cuboid, l= 15 m

Breadth of cuboid, b = 10m
Height of enboid, h= 428em

=28m(m= 10m

= 4 . 28m

Volume of suboid =1 Oh
= 15 x 10x4-28

= 642 em
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8. Length of hall , l = zom
Breadth of hall, b = 15 m

Height of hall, h=?
Volume of hall = 1200 ms

or lbh = 1200

or 20 x1Sx h= 1200

or ↳
or h =4m

.. Height of hall = 4 m

9. Let length of enge of cube-a metre
Volume of cube = 1000 m3

or a " = 1000

Taking cube root on both sides
a = 10 m

: Length of edge of cube-tom

to Edge of cube, a= 12 em
Volume of cube= a

= 123
= 1728 en

When the edge is tripled, edge= 12x3
= 36 em

Volume of cube = as
= (36)3
= 46556 em
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11· Length of iron fiece , l = 5m = 5x100 em= Soorm
Breadth of iron piece , b = -em
Height of ironpiece , h = zem
Volume of iron fiece = Ibh

= 500x6x2
3

= 6000 em

Weight of 1cm3 of iron = 50g
Weight of 6000ams of iron = 50x6000

= 300000 g
= 300000 leg(legtoog
= 300 kg

12. Ratio of dimensions of cuboid= 4 : 2 : 1

Let length of enboid, l= 4 x em

Breadth ofcuboid, b = 2x em
Height ofcuboid, h=em
Surface area of cuboid = 1372em

or 2(lb +bh+ hl) = 1372
we 2 (4xx2x+ 2xxx + xx(x) = 1372
or 8x2+ 2x2 +4x = 1686
En 142 = 686

or 9
or x2 = 49

Taking square root on both sides
x= 7 em

Length ofcuboid, 1= 4x7 =28 im
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Breadth of cuboid, b = 2x7 = 14 em

Height of cuboid , h= 1 x 7 = 7em

Volume of cuboid = l bh

= 28x14x7

= 2744 em

13 . Let height of cuboid= h em
Area of base of cuboid = 150 am

3Volume of cuboid = 900 em
or area of basex height = 900
or 180x2= 900

ve =
or h= 5

:. Height ofeuboid = Sem

14. Radies of cylinder, r= 7 m

Height of Cylinder , h =?
Volume of Cylinder = 3850m3

or Tr l = 3850

or**x = 3850

5025
or =
an h = 25

.. Height of Cylinder = 25 em

IS. Ratio of radius and height of cylinder
= 1 : 3
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Set radius of Cylinder, r= x em
and height of Cylinder,h= 3x um
Volume of Cylinder 3234 em

or πr2h = 3234

or 2xx2 x 30= 3234
17849

a x3 ==34x7
z2x51

2

or x3 = 343

Taking cube root on both sides
x= 7

: Radius of Cylinder, r=7 em
Height of Cylinder , h= 3x7 = 21em
Total surface area of Cylinder =2r(h+r)

= 2xz(22+7)
= 44x28

= 1232 em

cb
se

as
sis

tan
ce

.co
m


